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GCSE Mathematics
Practice Tests: Set 4

Paper 3F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
s Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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2D Shopes

Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

’é =
5 ;!
*
(a) Write down the mathematical name of this polygon.
€ sidesS -
________ Hexagqon
(D

(b) How many sides has an octagon?

(Total 2 marks)
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2.  Samantha has to go to a meeting.

The meeting should start at 2 p.m.
Samantha gets to the meeting at 1 45 p.m.

(a) How long does Samantha have to wait until 2 p.m?

Tirre bekuoesn ADACw onal [ LS

200 V-%§

1S A~ (2)

The 2 p.m. meeting starts 10 minutes late.
The meeting lasts 55 minutes.

(b) Work out the time the meeting finishes.
IO miwstesS lak | Z2pm T Omunkss = 2:10

meatng=SSenns | 2:10 SSMmiwkeS = 3 100 F S munches
e 3) : OS\DM.

——
(2)
Samantha then has to go to a 4 p.m. meeting.
Tt will take Samantha 75 minutes to get to this meeting.
(¢) Can Samantha get to this meeting by 4 p.m?
You must show how you get your answer.
Time aow 205
: auns = [hour LS muns
FSunS bowows | FSouns
2,08 + | hour [Smans = b 20
Concdws o No she Q:A.VLC)‘I' )
T (Total 6 marks)
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Angie is organising a party for 84 adults and 42 children.

At 8pm all the adults and all the children will sit down at tables for a meal.
6 people will sit at each table.

(@) Work out the number of seats and the number of tables Angie will need.

Totzl peeple BLF4H2Z =126 .. |26 Se=xts

o2 |

Tovlat Neadaoh |§ ]126 = 2| teaes

...................... ( 26 seats
........................ 2( tables
3)

Each adult meal will cost £4.50.

Each child meal will cost £2.50. U ewvelad M U.QJHP Lcodan

Angie has £500 to pay for the meals.

(b) Does Angie have enough money to pay for the meals for 84 adults and 42 children?

Y ou must show all your working.

Adlts coet | £l.sD X 34 = €334
Childwen Cosk | £2.50 < 42 = 0%
L6433

Todal coSh

WSCM‘ . L’g ¢ WLL (/\.O"J @\0‘6’1\ MCV\E'j

(Total 6 marks)
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Ben thinks of a number. aC
He adds 7 to his number. a0 -
His answer is 18 x+73 = |8

(a) What number did Ben first think of?

LT 2%
(-»|x =1
x=1)
1)

Josie thinks of a number. ¥
She divides her number by 6 2%
She then adds 13 6 e A §
Her answer is 16 )

(b) What number did Josie first think of?

X4 =

& \&
= 35

s o

(-13) =

C_“Cé) e = 15

(Total 3 marks)
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5.

N:;jod-\’ve Nunoers

Here is a map of Great Britain.

The map shows the temperatures in some cities at midnight on 20th January.

-~ £
Lgﬁa'\qj

r'[ ol —— -"f‘*-"r.*'_/.—
Truro 3 “C:.;’fﬁ,_t S ¥ Brighton -2°C
e

(@) Which city had the lowest temperature at midnight?

In Brighton, the temperature rose by 5°C between midnight on 20th January and midday
on 21st January.

(b) What was the temperature in Brighton at midday on 21st January?
o a .’_ .~vA I S R R (i

At midnight on 20th January, the temperature in Nottingham was halfway between
the temperature in Truro and the temperature in Edinburgh.

(¢) Which city had the lowest temperature in Nottingham?

-—i-(_uro = 3 3" -5 = __.a .............................. l...."C
@'ﬂb\.@h"; -5 = d (Total 4 marks)
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6. Two shops, Food Mart and Jim’s Store, both sell Kreemy Yoghurts.

Food Mart Jim’s Store f
| Kreemy Yoghurts Kreemy Yoghurts E
980 =Rl
L et L) J |
e R -

|

L.._Jl J 'k_ _.«'

. 5 for £1.80 3 for £1.05

At which shop are Kreemy Yoghurts the better value for money?
You must show all your working.

Feod Mot “TimS Shkore

2105 = DSt

R B RS
£ dﬁ (%5) EO%‘S—": ( Uc@huf’c

(:s) FODE = opgints

LS .p(,fmcﬂ?- .
e St P8 e lanshes Y N
ConcuSTo) -
—

(Total 3 marks)
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7.  Here is a solid prism made from centimetre cubes.

Diagram NOT
I accurately drawn
[} T 6
P }9 [ em®
¥ )
Find the volume of the prism.

o

............................. cm

(Total 1 mark)

8. A family went on holiday to Miami. S ’ —

They travelled from London by plane. i 2d Desfence Tume

The distance from London to Miami 1s 7120 km. D
The plane journey took & hours. S [ T

Calculate the average speed of the plane.

D
=7 S= =

= H2LO ken
@@)_q';mws Y= FEom = §0kulh

(Total 2 marks)
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(a) Solve x+d4=17

A= [

(-u) O =t3 1=

——
_—

() simplity (" 4eff G 3827 &ﬁ#

te +3e  +6F -2f

= e = "t'p
......... Fetuf
. (2)
(¢) Factorise 6w+ 15 FEU‘**‘&VS
= D (Qw 1'5)
o
........ 3 (2wts)
@
(d) Expand and simplify (x+d)(x+7) $
Exprdirg Doubole Brucests
Bpandl |- x et +2€
Cdleelt |= p gt 1 > +28&
..... XAt
@)

(Total 6 marks)
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Prgles i 2D Shapes

10.

The diagram shows a ramp next to a step.

\Q‘J” Diagram NOT

o s e
Step 1o accurately drawn

B
P

Y

(i) Work out the size of the angle marked x.

. °_arC = -
ac® dept Argle | (660" =70

& © [=]
> 2+ Fo+0 = 180
Af‘ﬁm e A =120

[+]
ik x +\6c” = 8O
o
(-(60°) b = &0
A Q'O ............................... &
(ii) Give a reason for your answer.
Q""@\e& ..... wo\%%b—mlgoc' ...........................
(Total 3 marks)
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11. Here are some triangles.

A AN AL
A AN A A
AN ANA

(a) What fraction of these triangles are shaded?
Give your fraction in its simplest form. D

Tout o is”

1
0

Tony takes some of these triangles.
He takes shaded triangles and unshaded triangles in the ratio 2 : 1

(b) Work out the greatest number of unshaded triangles he could take.

Cuprert Lok o Shaded : Onshadedt
q S

WAST "2\ Lo '

cc'\ cL;oSn‘:cy\ A "9 /- 1 0»\-‘30-3 S UAS\AQ.AQC! i'v'\‘cr\g s

(Total 4 marks)
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12. (a) Simplify (p°)?

@) =" | (PI=E

6
s
(b) Simplify I_:
e M (',8 §
a_ -q = AR
~ t Ly
........................ €
(1)
23 X 2:1:29
(¢) Work out the value of n.
My A A n q
a xa =ik 1Ix2 =2
3+n =9
(-3) =8 6. ...
1)
2x3 =128
(d) Work out the value of x.
3
2x =128
(:2) >x* = 6eY
(Total 4 marks)
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13. John is walking along a path.
He sces this sign.

pier cafe
1.25 km 650 m

How far is it from the pier to the cafe along the path?

Cenvart: \Ym = (OCOwA [ 28em = | 250m

(xicec)

\2SDmt650m = 1AE0m

(Total 3 marks)
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14. On the grid, draw the graph of y=4x — 2

p@g‘\nj Shognt hanas

X || |2]3

Y ]—-z.l 2] ¢ [0

o0 =
8 *=2 * \j-';Ll-C"')‘z =0
f = U ._._u(:s\-?..‘:— (T
4
2
- 7 0| I > E
_4
-6
5
/ __8
10
3 =Y -1
(Total 3 marks)
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Comlavatons

15. Mark has 4 white cards and 4 grey cards.
There is a number on each card, as shown below.

1 2 3 A

5 6 7 8

Mark mixes up the white cards.
He puts the cards on the table so that the numbers are hidden.

Mark mixes up the grey cards.
He puts the cards on the table so that the numbers are hidden.

Mark and Jean play a game with all of these cards.
Mark asks Jean to take at random one white card and one grey card.

(a) Write down all the possible combinations of the pairs of numbers that Jean can take.

Jean wins the game when the numbers on the two cards add up to more than 9 er
arve_ J;Q.W\(‘ij

Mark and Jean are going to play this game 80 times.
Mark will mix up the white cards and mix up the grey cards after each game.

(b) Estimate the number of games that Jean will win.

Mwbe,.af__wo.ds% h;mﬂ-‘:j - 10 C\.‘:T)((I.Q,(IH-)-(I:E) ,(2.8’): {2|6):(2l?),(3t?;€i_1)6?

Pm‘ba.bw ¥ = |
Wofmetry,  |= B

16
S

Rolatwe Frequend w <®O

(Total 5 marks)
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16.

17.

Tndae Lowus

(a) Simplify (&%) . P p c
LK) = CU X AT« e
8 e

=LK S
(1)
(b) Expand and simplify (3x + 5)(4x — 1) B@MJ;S od G .
B?FU\.O( (2 =3 420x -5 ‘G‘G
Collock | Hpoe -5 O S i =
[octoris . 2
(c) Solvex?—3x—10=0 e/ "Luﬁ Cepdyah'cS
QMFSQ_ (x-HGEED=Q
Gppn | TeFoRESTS ERER.
3)

(Total 6 marks)

The length, L m, of a plane is measured as 37 m correct to the nearest metre.

Complete the statement below to show the range of possible values of L.

‘ro‘/{"\ 2998 4 Mosc Im=2=6-Fm

g? ———— s
._.o.rm ’3“-5—“’\- Mm

(Total 2 marks)
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18.

A baker makes jam rolls.

chh‘c ees

H

The baker uses flour, butter and jam in the ratio 8 : 4 : 5 to-make jam rolls.

The table shows the cost per kilogram of some of these ingredients.

Cost per kilogram

Flour 40p
Butter £2.50
Jam £1.00

The total weight of the flour, butter and jam for each jam roll is 425 g.

Work out the cost of these ingredients for 200 jam rolls.

Teto PonS

C"-T\""l')
plour'-bt.o\'tef-' Teum

(x25s)

200 2cuS’
Howw neecled

R worremmesdiad
Teumn r\.Q.sLOL“—QI

IHUFS = | Fpaps
L}’?.Ss: \Fpost-s

| part

'2.33 =
Ll B
2@@8'-\(303 4 l?'sfﬁ p</ rw

200g X 200 = L0002 fowr = kOkg
Loo0Rg Ruttw = ’?_Os:j

— ‘2.5\(_3

—

oogy W 2O0 =

P

128 X 200 = 2SO GU”M\

Flows coSt " Lo X Lop = #£6
&
Rutte/ Cost: RO ~x £2-SO = £SO
Tom Cest * TS Kﬁ( = f25 @
——140";9 ......................... é;
Tateal cost - (Total 6 marks)
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Diagram NOT
accurately drawn

ABC is a straight line.
DEFG is a straight line.
AC is parallel to DG.
EF = BF.

Angle BEF = 50°.

Work out the size of the angle marked x.
Give reasons for your answer.

Bﬁ‘F:J&é{: - so° Zo-se onglas o—?— (soocles AN'ogle tha Soune
BFC = '80°-s@°- 0 ITO® LA~ deng\=
= 3Q°

RFE = = 20" Alienoke onplen Lt peralial Lrad T

................................... O

(Total 4 marks)
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9.

Dependant Pm@b;(@ Trees

The decision tree diagram gives information about the probability of snow for the first
50 days in winter and the probability of whether buses will run or not run.

(a) Complete the decision tree diagram.
Weuther Buses

0.7 Buses will run

Snow

0%

Buses will not run

Buses will run

Na Snow

?795' Buses will nol run
(2)
(b) Work out the probability that it will snow and the buses will not run.
P( Snows Not Q.m) - 0.2 X032
- 06
O-06
(2)

(Total 4 marks)
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21.

-

9.5 ¢cm

R3cm A

Work out the value of x.
Give your answer correct to 1 decimal place.

o .
St:;\-\./d(\-\'ﬂ:ﬁ CDS@""’—::\

cosS >x = -5

a-§
o
e [Z2Y = - : .
O o L I

(Total 3 marks)
e T o T e e R T e e e e e P e e e L e o e e S 1y
TOTAL FOR PAPER IS 80 MARKS
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